COT4810.02, Fall 2002






November 20, 2002

S. Lang


Assignment #10 (Presentations 30, 33, 40, 49, 51, 53, 54)


1. (DNA computing, 1 pt.) Name one NP-complete problem that has been solved by the first DNA computer.

2. (Logic programming, 2 pt.) What does it mean to unify the query married(john, X ) with the rule married( john, marsha)? (See. p. 422 of the text.)

3. (Audio compression, 2 pts.) Explain briefly temporal masking and simultaneous masking.

4. (P2P systems, 1 pt.) Give 2 examples of P2P systems.

5. (OpenGL, 1 pt.) What is OpenGL and what is it used for?

6. (TCP/IP routing, 1 pt.) What is masquerading?

7. (The Manderbrot set, 2 pts.) Show 2 iterations of the Manderbrot set computation using the iterative formula z(t + 1) = z(t) * z(t) + c, with z(0) = 0 and c = 1 + i; that is, compute z(1) and z(2) using the formula, and write your answers in the standard form a + bi for complex numbers.  (Recall the imaginary number i, with i2 = –1.)















































